[ Efficiency vs vertpos |
- 0.2

CRRT, S S —
e . F : : :
O e AR AR
[5) I : : :
{0 NI T FERRP ELRRPIES e o

2 : :
£ 0.12F] Fyeeereivreeeeene oo s

0.02 + ----- e A—
I Eiratin ¥

o J--\G NN
B
@ 1} B I EECEEE. SREEERE
4
0.95F1 -HH-FHA - - == H AR F oA oo
'." -+

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global_mKFITOLD__RECO

Efficiend —— DQM_V0001_R000000001__Global_mkFit100_RECO
ICleNd ., pQM_v0001_R000000001__Global__mkFit100tobtec_ RECO

~ 0.1
20.09
n
>0.08
>

2
90'07_
3]

£ 0.06
(]

0.05]
0.04
0.03
0.02
0.01
e

Ratio
N

----- 4444 HLELIH 4] 4 44 440 4 - - -

0 10 20 30
TP vert z (cm)

o
15
o
o
| :
o
[
=
o

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.0

...............................................

o J.k):)f L *
T f A1 14
5 4
it - E:: B .
%% 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


